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EREEED, DFHEEHEED—RIAER, EHRE
B, FRAFEBRUHEFEMIAANBEHERL, BEidxtkkn
R, BIEFERMNMAERXEMT; RbEFRNNME
RXEMPAANERS . ETFXHER KBIBEXEHS
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— RN BN AMREE. Hik, SEEEMIDIRNG—3H
KARBAEEM, ,
&3 1 EFTRSERNATHEE, HFORE5EER K
A (AREHEEHATRS, mMEZERHSE £ i85, 6l
an.
This gas has/have a greater density than air.
This gas has/[have]| a greater density than air.
1. Water boils/boil at 100° centigrade.

. Action and reaction is/are opposite and equal.

2

3. A thermometer measures/measure temperature.

4. Oxygen and hydrogen is/are gases.

5. Mathematics is/are an important subject for an
engineer.

6. The light bulbs in this room produces/produce 100
watts each.

7. The liquid in those bottles is/are dangerous.

8. The results of the experiment proves/prove the law.

1



9. Everybody recognizes/;?cndgnize the importance of

practical work.

10. On average, women lives/live longer than men.

11. Some substances, most of which are metal, is/are
good conductors of electricity.

12. Most kinds: of wood floats/float on water.

13. At least one kind of wood sinks/sink in water.

14. The average monthly rainfall figures for this area
shows/show a small decline in annual total over
the last thirty years.

15. The apparent loss of weight of a substance which
is immersed in a liquid equals/equal the weight of
the displaced liquid.

BERANATF (g14ammls) sTRAREA-AEXBESE
MEERE. FEHRSHMER, DFHHERs WRER,
fEmrafnam1sd, FHARH—ARAER. mEMHEENeET
Ui 2Ot

iE®RMEMI4MI5E FEHMAA RIEDTFE—HLE:

“I don’t want to go and see him today.”

“What are you going to do tomorrowsp”
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1.
2.
3.
4.
5.
6.
7.
8.
9.
10.
11.
12.

13.

14.
15.

These test-tubes.

Cas?cfiiron not as strong as steel.

Oxygen necessary for all growth. "

Oxygen and hydrogen gases.

Oxyen, like hydrogen, a gas.

This solut;on a mixture of chlorine and sodium.’
Angles measﬁrmg 90° rlght—angles.

The natural water in many parts of the world hard.
Gold and silver not radio-active elements.

One of the machines out of order.

Two of the three pieces of metal copper.’

A beaker or a small glass necessary for this expe-
riment.

The spiral motion of air above a low—pressure area
always opposite in direction to the movement of
the hands of a clock. ‘

The breaking strain of the rope 200 kilos.

200 kilos the breaking strain of the rope (Be careful})

ERERR D, B—AEhEEIH AT A A # 3 7 £&

have,

HTFRESHEFSMESHRIBBRTEFESE 2, XFh

RSB R E A,
%3 3(a) Hlis & has 2%,

1.
2.
3.
4.
5.

Water _a boiling point of 100‘;C.

The boiling point of water 100°C.
Stainless steel a metal alloy.

Stainless steel rust-proof. |

This car a maximum speed of 140 kilome-

ters an hour.



10.

The maximum speed of this car 140 kilo~

meters an hour.

The angle of reflection 9°.

The simplest hydrocarbon methane which
one carbon atom and four hydrogen atoms.

In chemistry each element its own symbol,

which ; usually a capital letter followed by

a small letter. 7 5

If a pla(x:xe figure  »o- three straight sides,

it . ___a triangle.

%3 3(b) M has BRAFHEEIEM

1.
2.
3.

giving the freezing point of a liquid .
giving the melting point of a metal
giving the demsity of a substance

4. giving a property of a square

5. giving a property of a triangle

%3 4 THI&MEEA LKA, A is, are, hasg have

BB X )T,

1. A triangle a figure which has three straight sides.

2. The Dead Sea a high salt content.

3. There several types of pumps. £

4. Most kinds of stainless steel a small percentage of
chrome.’ s’ :

5, Stainless steel the property of resiasting corrosion.

6. Modern bridges often several kilometers long.

7. A modern bridge sometimes a length of several
kilometers.

Iscj)ééele§,ctriang1¢§ two equal angles.
The total popuiation of the world about 3, 500
million.



10. A hexagon a plane figure with six sides.

B % T E— B FEFUMUE R

The Moto 1160

The Moto 1100 is a small family car. [t has a small

engine which is in the front. The engine has a capa- -

city of 1,100 cubic centimeters. It is a front wheel

drive car. The gear lever is on the floor. There are

seats for four or five people. It has four forward gears

and a reverse. [t has a maximum speed of about 130 km

an hour. One advantage of this ¢ar is that it has a

very low fuel consumption. -
LEBABIIERIZ M be 71 have 1E A i B AR MR
R R EZEERERED,
%3 5 . MRS MR TR ERA—FZET
£, /i be fl have (B FMEEHI; ABHOTHESHE
M. UMR%E. BE%E. FEFBERBELA.)

= R—RAENBIRE

(a)

(b)

(¢c)

(d)

— IR A TRRL I EmER.

He studies physics six hours a week.

The crude oil then passes down the pipe-line.
— BB T R R

Water freezes at 0°C.

Area equals length times height.

— MR BLLE I T3 3 2 i BR Fn v 22

This type of vinegar contains about 3% acid.

The liquid in the test-tube weighs 55 grams.
— IR B ] TR L5



The filter paper then collects the impurities.
The temperature rises until it reaches 100°, but
after that it remains constant.
g, BRIEEFEs B AZERNMES, BRA—%
AER

—RARENBEE:
it they
he }produce +S we
produce
she you

I
ARESHEHRANTEB., Bk, BEI—fR, ERMZE
BEEEDEZAFREEMERLT, ¥ ShEshians 2. A
KESHZHE—AHERE, FARMNARZRARMESDFRRYRR
ms, ABEMNGBELENHEL, .
LA ss, sh, ch, x f1o & RIFNIFAZEM es,

they pass he passes

they push he pushes
_ they watch he watches

they mix he mixes

they go he goes

LY &5RMZE, YuihiHEE, BEYRBER i, Bim

es, 7

they hurry he hurries

they magnify he magnifies
LY &5 R3)iE, YRrchLEH, ER—RANEL Cn
$)o
they obey it obeys
they say he says
%3 6 FE2ADABERBRKS FH0T

6



1. He (study) bigloéif.

2. The current (pass) along the wire.

3. This rm\g (weigh) 125 grams.

4. ngd(travel) at a speed of 333 meters a second.

5. Rain ('\;v\;,sh) salt from the soil.* "

6. This factory (e%ibloy) thirty people.

7. This bird Qcatch) insects as it (fly).

8. Water (solldlfy) or (turn) into ice at 0°C.

9. Glue (flx) or (stick) two surfaces together.

10. The dowff—stfoke of the plston (compress) the

"*mixture until it (explode) #3:¥.

%37 %&Tﬂ]d)ﬂ%ﬂkﬁiﬁﬁiﬁﬂé?&

1. study 6. analyze 11. convert 16. lay

2, reach 7. do 12, possess 17. employ

3. .ty 8., design  13. mix 18. qualify

4. think 9. apply 14. assemble 19. draw

5. stretch 10. weigh 15. exchange 20. supply

%3 8 THEMAREHANAT. FHaREIRXEHT,

HEHTAERBOTF. SEPHTH SR RERE—1. 84
BEBREA—K. (—) FRALAAI.

' Fresh water “freezes :at :78C. .
> Alcohol ¢equals, ‘about fan a\;erage of 70 years.
y Copper . ¢« liqu%ﬁeg yat = 510 per cent alcohol.
. q Oxygen. iweighs — +0.9104 meters.
Wine sconsists vat = v—183C.
A yard contains ;at ,one kilogram per litre.
Sound Ilive — /2 oxygen atoms and 1

carbon atom.
Mercury.., “7travels sof ;1083°C.
'Men ymelts 9for 760 mph at sea level.

il e PPa how
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”A carbon dio- *boils tat v—30%.
xide molecule
%3 9 XBTHIBRE, #ESANIFEREHRBER.
Around the earth there (be) a large area of gas
which (form) the atmosphere. This layer of gas—or
more acc?:ilrately, gases—(provide) some of the chemical
materials which man (need). The other raw materials
(come) from the earth and the sea. 7. %4 :
About four—flfths of the atmosphere (comnsist) of ni-
trogen. The remamder (be) mostly oxygen. The. other
five gases (be) very rare and, in fact, (make up) less
than 1 per cent of the total atmosphere
Although these gases(be) rare, at least two of them
(have) common uses in the field of electrlcal hghtmg |
Electric light bulbs usually (contain) argo. Neon'| (be)
also useful because it(give) out light when an electrical
current (pass) through it. »
%3 10(2) XETHEX—B¥%, HiZB¥ THHA/3IE
HAZAN., BRAER—A31A. ERHFRMEERH—BHE.
Colour o,
When sunlight strikes an object the colour of the obje-
ct depends upon the wavelelzgths which the object
ye . If, for example, grains of sugar:
equally all the wavelengths of the spectrum the grains
t7ees  white. If a surface reflects only the wavele-
ngth which produces red and_“' the other waves
of the spectrum, the surface_0/»-::red. Black is the
""‘e\.hs?etlcelvof colour because black objects all the
light of the spectrum.
absorb ). appear reflect



reflects -

FR AT 75 2 BB T 2 ]

hat colour surface absorbs the greatest amount

of heat?
2. What does a mirror dog

3

appears

absorbs

> 10(b)

1.

How fast do light rays travels

4. Some rays are invisible—give at least two exa-

mples.

AMEDRIEEETLE, i B TEmH
BHRRAAFENBROERA. B2, X&E4F

11 #HBEER—
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EFHEIIGE, HHEMNIRETRBRRERX GrilASLE,

UL first, then, next Z#1$5i) .

"]

E4afTRE

(b) Compression stroke

RRUTE

{a) Refill stroke

W T
REERER

wE

piston

o
%
%

d

B outlet valve

A inlet valve

AR

B

Refill stroke

1. A mechanical force pulls the piston upwards.



The reduced pressure céﬁses the inlet valve(A) to
open. oy

Water enters the cyliﬁder and fills the space bélilé-
ath the piston.

The outlet valve(B) remains clgsed because of the
pressure of water in the outlet pipe.

The pressure in the cylinder beneath the piston
begins to fall:%'®

Compression stroke

1.

2.

8.

Water continues to flow up the tube until the
piston reaches its lowest point.
A mechanical force pushes the piston downwards.

. The cycle starts again.

This causes the inlet valve to close.

The high pressure water is forced up the outlet
tube. ’

The cylinder now traps the water because it cannot

sk
"'escape back through A.

When the pressure is sufficiently high the outlet
valve opens.
The pressure beneath the piston begins to rise.

%3 12 RIRASHEHFHTERE 2R ERED.

MIEEHRBEAML, EREGENBEEPRIMAE

R, ERNLERE, —RAEMEEXMERKX
RGBT do, do A E L.

statement negative question
Wood floats Iron does not float Does wood floats
Sticks burn Stones do not burn Do stones burntg
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